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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ fayg-smerate= & (aﬁ%
TRRAURF ) __ GRI&Yifed faar T Tl

1. Eysenck and Allport / m 3R 3fTeare

2. Galton and Kretchemer / TTeCH G'ﬁT HIR

3. Jung and Sheldon / T 3R Qe
4. Murray and Morgan / W R ANH

Correct Answer :-

« Murray and Morgan / W R AN

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 3ITY TSP STaf=Ifbede g | 7 Tl P a0l Bl 3fifeed & Nfea g1 &1 2w Tl
AU 37 61 P fipa & fore ver QAfere s &1 @ & forw
Vo | fRrem Aas=e 3Mus! e Ruid Nerdr 8 3R S SN o+ ard
frepd 3T = $ AT B GHSH FI AR g1 P! dred, fRafafaa &
A 5 &7 § g1 &t waifie dva-n g2

1. Oral presentation skills / Hifa® H%&;U?I CARI

2. Verbal concept formation/ TRYF YR TS
3. Block design/ SSICASSIER
4. Abstract thinking/ &I'Hﬁ i)

Correct Answer :-
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. Block design/ sl f&oiTg

3) Gender is determined while sex is determined. /i%‘i"T

wq ¥ Fuffea grar ¢ srafe Ja w0 & fAeuifagarl

1. Socially, Culturally / TSI , Hikdp i

2. Biologically, Socially / SIEED ,HIHIi-\\rIOb

3. Biologically, Environmentally /ﬁﬁ?,@ﬁm

AN

4, Culturally, Biologically /HI@Idoh ,Si[dh

Correct Answer :-

. Culturally, Biologically /Ui ,Sfdw

4) A set of rules that helps us to derive meaning is known as: / o &1 Udh

e §t gd o fFpTem o Wgg vl 8, M & U | 9141 oI §:
1. Sentences / dI

2. Phonemes / I

3. Words / RIsq

4. Semantics / GTHCH

Correct Answer :-

« Semantics / OiAafes

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ ﬁ'-‘!ﬂw

3T 9Ufg as®! 8, St STHAYT 9 3Bt &1 #3dt g s v
ST A I DI ST a1 ge1 1d g1 A & Sgar, $14 it
TFFTHS &HAT = ) YR THSH § e g1l 82

1. Decenter/ WUT

2. Conservation/ &0

3. Logical reasoning/ SIEE (Q'1\IJIrGIOI‘>Q’I NEIBH)

4. Reversibility/ fagdar
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Correct Answer :-

« Logical reasoning/ SIEZEE (Q1Ti-\\rld9(1 NEIEL)

6) By three years, the child is able to speak ./ ai= ad ddb, 9=l

dia A gE gar gl
1. Syllables / 3{&R

2. Grammatically complete words / TTHR Ul =Y q q:UfW

3. Words / Usq

4. Functionally complete words / HAHE® U Y EUTW

Correct Answer :-

« Functionally complete words / HEHED &Y I E[UTW

7) According to Abraham Maslow, is the summit of human motivation.

/ SIETEH Ul & 39N, HT-d ARV & URTHTT B |
1. Safety need / IR&T CARSICEUG LI

2. Love and belonging need / Hdgdl Td e DI ATTRIGH AT
3. Need for Self-actualisation / G{W-I%l@ LA ICEUE I
4. Esteem need / JHTH &1 SMIIDH

Correct Answer :-

« Need for Self-actualisation / ITH-RIf Bt aTHAl

8) What type of memory processing involves focusing on the superficial
characteristics of an object? / fra gerR ot '\‘Hﬁl’ TR o1 H fopdt a¥yq G|
g I=AoeT uR AT Ffed 1 Mha g2

1. Deep level processing / g1 TR JATUT

2. Partial processing / 3R e

3. Elaborative processing / ﬁ?ﬂﬁ RRSIEE]

4. Shallow level processing / YT ¥R LT

Correct Answer :-
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. Shallow level processing / SUTT ¥R JATYT

9) What principle of learning is observed when a child does well in an exam
because he was promised a new phone? / ST BT B 1 Rygia uféra sman
8 99 S ot udiem o 3esT UeRH $Rdl § Fiifd 39 TP ¢ B ST aral
[CRIRIC IR

1. Negative reinforcement / TPRIHDP Y- CRE

2. Negative punishment / TP RIHD qUs

3. Positive punishment / P RIHD qUs

4, Positive reinforcement / P RIHD Ei"lclc NG

Correct Answer :-

« Positive reinforcement / D RIHD g"ldrﬂ"l

10) What is the unit of heredity? / 3TIAIRIPdl Pt SHIS FT 8?2

1. Zygote / QIH

2. Gene / S{IFl

3. Fertilized cell / TSI p1fRIebT
4, Chromosome / aﬂnﬁhﬂ

Correct Answer :-

. Gene/\_rﬁ:[

11) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / Udh Il 3 HTH
Hdl g TP 3R T8 HIAT ¢ df S ATPpac A YRIpd fhar e
ATl BT gui- B & T 5w eg BT IUANT fHar Sran 32

1. Operant conditioner / TR SIatdh
2. Punishing stimulus / g8PX 3 ‘E':\l U

3. Reinforcer / UdcIdh

4, Neutral stimulus / dS¥®] 3 ‘E:\I Uch
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Correct Answer :-

. Reinforcer / Uddddh

12) Trail and error method was put forth by: / Udd dUT gﬁ' fafer 37@? QX1

yferarfed 1 7s:

1. Thorndike / USSP
2. Kohler / BIGTR

3. Piaget / Tt

4. Pavloy / UTdeld

Correct Answer :-

. Thorndike / YTSISH

13) A student who completes tasks to earn marks is motivated by:/ T BT ]|

3 SHfSTd B & g ST IRT BT &, 98 94 YR Bl 6:

1. Knowing needs/ 3TaLIDH T3] Bl ST

2. Intrinsic factors/ 3TAN® BRD
3. Extrinsic factors/ Eﬂ_&'ﬂ DhRh
4. Mastery goals/ HEIRd <&

Correct Answer :-

« Extrinsic factors/ Eﬂ?ﬁ hRh

14) Through classical conditioning, a neutral stimulus becomes a/an

RRUTART UG ad (FaRied HSIRIIT) & AT 9, waaﬁqai?rw

T CRECIGIRS

1. Unconditioned Response / &ﬂjdgi?ld &jiaﬂﬂ

2. Unconditioned stimulus / 3{1J® ferd e iU

3. Conditioned stimulus / YIJP K E—‘:\I Ych

4. Conditioned Response / Uil SfehaT

Correct Answer :-
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« Conditioned stimulus / YT dl 3 'E:\I U

15) A continuous loud noise is avoided by closing the door. This is an example of

./ <YdaTS B §¢ $IP AR 314 dTell ol fTaTel o 597 STl 8 1 98
&1 Y& 3T 5|

1. Negative reinforcement / THRID JASCH

2. Negative punishment / TPRIHD qUs

3. Positive punishment / P RIHD qUS

4. Positive reinforcement / YHPRIAD TG

Correct Answer :-

« Negative reinforcement / TPIRIHD Y- §a

16) Several tissues coordinate to give rise to a system. This is known as i

PS Sddb, T YU Bl ST 1 S R IAATI FAE ST ®UH
ST ST 21

1. Continuity / IEEGEG]]

2. Integration / Qﬁw
3. Specificity / GRS

4. Differentiation / ﬁﬂﬂq

Correct Answer :-

. Integration / Qa”ﬁWUT

17) ‘Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / HI-I1 Rrgid sRTSI®ar ) ST
3R SIferdr Ud STeH-3iTTe Rigidl gR1T @ ¢ Rigial & udipd Sl
87

1. Cognitivism / TIHTH®D
2. Connectivism / Flzﬁw
3. Behaviourism / AdgRdlg
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4, Humanism / HFAddlIq

Correct Answer :-

. Connectivism / ﬂ?ﬂ\_rl:la'l_c{

18) Which of the following is not a teaching skill in inclusive education? /

fFrafafaa § 9 o= Jamash Rien § ve Rigor $izma T8 82
1. Formative / A0S

2. Achievement / ST

3. Summative / NTTHD

4. Performance / T&RH

Correct Answer :-

« Formative / oimae

19) ‘Which of the following types of parenting is least likely to benefit a child’s

development? / FFrafefad | 9§ 59 TR & ura—-uivo § 9= & e |
Y g1 B JYTGTT I I 8?2

1. Permissive / W

2. Uninvolved / 380G (HIGHTED U I - S[ST §3MM)

3. Authoritarian / ﬂ?ﬂaﬁ)f
4. Authoritative / JTUBIND

Correct Answer :-

. Uninvolved / 3f¥dg (HTaHTED U F 9 TS g3

20) Which of the following steps should be taken in order to develop creativity

in students? / BT § YIITHB AT faBRId ®3 & fou FRaffea & 9 o4
AT HGH ISTIT ST ATge?

1. The teacher has to give freedom to respond. / R CARYIRIER)) éer & ﬁ‘l'q
LEREGICSICIIRY
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2. The teacher should deliver lectures on the importance of creativity. / fRrah o1
DT b HEd UR ARAT G aNfg Ul

3. Students should be given opportunities to ask questions. / CEEICIPES u;ﬁr &

foTT Sfg¥R ST =R U

4. Teacher himself should be creative. / [R1&/® &1 ¥qd Wt WIS 8191 TMRTI

Correct Answer :-

« The teacher has to give freedom to respond. / fRrere &1 Ufdfobar ¢ & fow
LCRERICERIICIITHE

21) Which is the final stage of Piaget’s theory of cognitive development? / forarst

& AT faeTe & Rigia 3t sifaw s i 31 82
1. Formal operation stage / 3M=es Tighar Sraw

2. Pre-operational stage / @-ﬁm S{AR][

3. Concrete operation stage / 11?? Tfoh T ST

4. Sensorimotor stage / ot UM SfaRT

Correct Answer :-

« Formal operation stage / 3= Wighar Sraw

22) Different parts of the body have / IRR & fafis %Wﬁ H ﬁ?ﬂ %’:

1. Sporadic development / ¢ e f[dh ™ AT Hal-Phgl [dhT

2. Uniform development / AT fdd
3. Different rate of development / faera & fafta @°
4. No development / PTs AT 78!

Correct Answer :-

. Different rate of development / fa®T & faftF &

23) CANCELLED

"My test results show that | have an interest for sports but | do not have stamina
to play’; which of the following tests describes the above statement?/ R:0y tl'\ﬁ&l'UT
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gf¥ome gxifd 3 f g3t @al d o @ afea N v @ & fore gei=ifa
T8t & FRuafafad # @ S99 I1 e SIRIed $U BT 9ol HId1 82

1. Aptitude Test/ 3THGRT TRI&fOT

2. Skill test/ HIRTE TRI&OT

3. Achievement test/ SUGIsdI URI&0T
4. Intelligence Test/ §fg TRI&T0T

Correct Answer :-

. Aptitude Test/ B‘Ff\ll?ﬂ%l TRI&T0T

24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle

explains this belief? / T 3G’ W—W%@ﬂ@?ﬂ%%m@ﬁw
ATd ¢ | forare! Rigia 59 fayrT &t on sare svar g2

1. Egocentrism / @y
2. A-not-B error / t{-'_‘lﬁ-_cﬁ ﬁ'[%
3. Conservation / G & U]

4. Animism / ﬂm

Correct Answer :-
« Egocentrism / @

25) CANCELLED

During middle childhood, when faced with failure, what meaning would
children attach to their experience? / H AU *® 'caTI:T, old B Al hT
HTHAT BT IS 8, O 9= (U SgHT | TT JHN?

1. Shying away from activities in which they are likely to succeed. / Tprar m
Tafafiat ¥ gR 38 € oFH S I%d 8iF B YU 8l

2. Conclude that trying new things is better. / Ug g H b '_‘I_‘i; EISIEIEAIRE
FRATIEAR 5 |

3. Conclude that failure is an indication of their incompetence, not a condition that

can be modified by learning or practicing. / g sy fApTeT i S
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3P ST BT Hobd g, - fob ! fRUTT & IO SERTH e a1 I A o
TRNferd T8t fpar o Ipar g

4. Frustration and becoming more pessimistic about their abilities. / W 3R 3Ot

grrarael & gay & 31fee FARmemard! g e g

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / g sy fATe foh s aan
3D & BT Hobd 5, A fob Teft FRufar & oy sif ooy a1 s oy 9
TR 78T fora S wepal & |

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing

schemas in the light of new information is knownas . \_rﬂq s &
YR, Wmﬁﬂﬁ#m%mﬁmﬁv@wﬂmaﬁ
CEGEIRIIE GRS & 9 § ST Srar 8l

1. Equilibration / HI&]

2. Assimilation / STHITdh U]
3. Organization/ JTSH

4, Accommodation / 3{TdTH

Correct Answer :-
« Accommodation / 3{IdI¥
27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap
between them. This follows which of Gestalt’s principle of perceptual organization? / 'Clﬁ'

20fdg I TH AN AT TH @ F  ATY-TTY IGT ST § 3R 5 ISP a1 & 3iaR Bl
3T B THATY ST &1 8 TRCTeT & ATURVTHP H64 & f5a Rigid o1
SIERVI HRdl 32

1. Law of continuity / IEEGEGIEANGEE|
2. Law of proximity/ﬁﬁ'ﬁﬂ'{ﬁﬁ'ﬂﬂ
3. Law of closure /WUTWﬁ'CITf

4. Law of similarity/wmﬁaﬁ
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Correct Answer :-

. Law of continuity / FaRaT &1 oW

28) Teachers need to the needs of diverse group of student. / Rrepi Pl oml &
fafay Iz & smaxgemarsit a1 DI MAIDT B

1. Take care of / T TG

2. Orchestrate / IS g9

3. Handle /%@T’fﬁe{
4. Deal with /“Gmaﬁ?nwﬁ

Correct Answer :-

« Orchestrate /!ﬂ?ﬂaﬂﬁ

29) Which of the following is most crucial for children to learn to live in a

society? / FFARIfAd & Q@ 19 5= & e 0= # 361 & forw daq #
o Ugaqul 82

1. To work on individual tasks / HfFTd PRI UR BTH H]

2. To work collaboratively / {-IGLI\I‘I @ h[H hR]

3. To work for rewards /W%WWW

4. To work in isolation / T&id H HTH Bl

Correct Answer :-

. To work coIIaboraﬁver/W@WW

30) Which of the following can help the child to overcome failure in school? /
fFrafafaa @ 9 SI9-a1 9= @f fagmay & sRIvadr &1 g3 H- § 7ag B
TP 8?2

1. Asking them to Focus on next assessment / d% 3T 1—L¢¢Iid°d T T ablrs\‘gcl B
P! Hel

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI g

31 Y IR SR 34 & forw I35 AR AT 3R UTengd e
3. Giving them some free time for leisure / G’% 3R B ﬁ'f({ P LGNSR %HT
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4. Changing their section/Class / KRG STTHIT/ D& CANEI

Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &HdI I

3 T TR OIR &4 & for 31 URT HAT 3R TR d Bl

Topic:- General Sanskrit(L1GS)

1) —,

A 7Y - 3T Tl Hec |

.

FReAad |

1,

[

Erree il

2.

FReAgH |

3

oA ATIH |

4

Correct Answer :-

ﬁer-I*Uld-lﬁ |
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Correct Answer :-

fn

) N
’HICP“UN-Q RISUEY o1H TehdH |

UlrdoiedH |

1

Correct Answer :-

UlodoloedH |

4) M :
dr=a gral: Fedl Ucdd §9 [hH ?

di>&cal |

1
. di>dcar |
\ discdl |

4 araia |

Correct Answer :-

di>Gcal |
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5)

‘Slellhe:’ ScOET Uil Jdh Yeh feldd |

PIAAATSH 3T

1

Zara’i’raﬁf::l

T H AT 3|

3
, AT H T |
Correct Answer :-

% M H T3

, e |

Correct Answer :-

. goataeria: |

" 3freRTer T: i Hied ?
| THG |
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| @ |
| ITSTIEY |

T |
4, 2

Correct Answer :-

ISTRIGeATHCAAICAH |

T ARIGCATHCAIG T |

2

RERINCIS NI CIERE

3

ARG H AdIGeH |

4,

Correct Answer :-

RECINERS RIS EICTE

Y faved  scaey wARue foReE 2
o |
et |
_ doad |

Page- 15



, Tawed |

Correct Answer :-

ol |

1.

y dicd: |
, clad: |
. Urgd: |

11)

ATEATelleh: Scaed HieHidess Hod |

oMET dch: |

1

Il olleh: |

oTTEAT 3TTellch: |

3

, UTE 3TTelleh: |

Correct Answer :-

AMET 3Telleh: |
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" eqyo sy TEAT wed: for@d |
 TeARIGeA IR |

TaIGeehleTiaRITRIcH |

2

>RGNI Ta TR, |

3.

qml%lc__,’cd‘iqﬁﬂﬂ%ﬁ: |
4,

Correct Answer :-

SECINET IR IERInRR

) SsrerTar: Mﬁg-drdd‘lﬂ*’“i'qﬁqqﬂ{qq Tajd_l“ i
) oA |

 STeTHE! 3787 |

RCEICT

Correct Answer :-

cEic

* Fea: scueg g & ?
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) 2

3 Ellu'ala |
\ @Irﬁlaafl |

Correct Answer :-

15)

gelod 3ca%d faagaay T ?

TeEd 3Ted |

1

Tel 3od |

2

e Aloea |

3

i 3ed |

Correct Answer :-

T 3ed |

1) i?—j‘am Q|@?j|3| chl ﬁ'ﬂ%i?ﬁ: Ul -?:]Jxr?ﬂa ?
. < |

a—graﬁl
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3‘;[21?le|

| admr |

Correct Answer :-

17)

. UTCTHIRH |

qTaehe |

 dogdedd |

dMUIH |

4, S~
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Correct Answer :-

GRIL: |

Correct Answer :-

20 HAYCGET Td: h: ?
o D
GEW
1.
|q |
ER
S M
0 |
4, 2 7
Correct Answer :-

ol
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< gcg dac |

1,

< gcd dad: |

2

g g deH |

3

od 9 delH |

4

Correct Answer :-

d g dc |

? wfts: sfa ered averad |
I
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, TS0 |

Correct Answer :-

2.
; rerfeCenrer |

Y T
| GHeddIe |

Correct Answer :-

* gfed scaey sfavcprawy fhe ?
s
_areaid |
&gt |
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dafd |

4.

Correct Answer :-

geafd |
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1. cd I
dHed |
72 2 T
U |
3.
oy |
4. .

Correct Answer :-

ol |

3.
adl |
4.~

Correct Answer :-

Page- 24



5rdd-l‘]rdd-l |

2

ScdH |

3.

4%’%]

Correct Answer :-

Topic:- General Hindi(L2GH)

1) Wl HTS 3TS T B i

YT B 1S TS IS, AR I A qief |
fofa-ferar &t § Yt ARTN, Hig wefteT qerl

frar a1t ait W Hufy, Fafir &1 uist werl|
ST Sfa Y et areht g ga =1 uth

TS HUC BT 1 Fpw, gR & ifa st ot
3ffeft i =t ot et Iw g =i 4T

Fg PAR U F Tdhe Sfed wam ad W=t |

I U= B UG Aia YD T U BT IR Ta15:
- «3iTeh I i oiet g ufdd &1 erf 82

1. 981 & 91& STt &7 ST

2. 3l & I1 B aui A UH B ST

3, 3ifdt & 91G BT aul § I8 ST

4. ST & a1 Bt auf F Hiwr S

Correct Answer :-

o 3N P a1q BT aul & v S

2) WAl W STE JH B SHieht ¥

YA B TS T SSHT, AT 7 T |
fRfa-fera &5t § < FARTR, wig eiteT qenl
Bt sify uft R SHuft, Fafy &1 urst weri |
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T If N et AT Ry ga =1 uroi|

FS PUC HAT F1 Aw, gR &1 71fa e sl 1
3fteht i =t 51t geT, Iw gt o= of =T

Fg PAR HIH P Tdhe Sfed W ad @A |

Iuad U B USHR A IS T WY BT IR Iq159:
U - U1 AR S & g BT T SR 82

1. I 1 UIfe 81 &I

2. il T 3T

3. WP Bd RS

4, 3ifeft T 3T

Correct Answer :-

o S ST UG § I

3) Nl UTS 3MTS 1 B e ¥

YT B 1E TS IS, AR I A qief )
fofa-fera &t § Yt ARTN, Hie wefter qerl

Bt sify ult ) SHuft, Fafy &1 uisi el |
SIRT Tfar SN et aieh R ga = uiof

HS HUC DT &I fadmw, gk oY 7 o/a \rofi 11
TR S oY et get, 99 &8 o= =T

Fg AR U P Tbe Sfed HaT ad i 1|
IR TR B UG Ai1a YD T U HT IR Ta13:
WA- ‘HUC g FT faaia 82

1. 30

2.3Y

3. Fwpue

4.9d

Correct Answer :-

4) ¥l WIS 3TS T B 3Aieht ¥
YH P TIET Ad IS, AT I T aiefi11
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fRfe-forr Y 8 0 ARTR, wig sefifeT e

2t Bt uft @R Sult, Faft o1 uisi werl|
ST SRy i et ateht g g = atoft

e HUe BT &1 Hwer, g o i sra ot
STeht S i et ger, 99 &< o= fET

Fg AR HIH P Tdhe i W ad di=i |
IuYe U B USHR 1 IR T U 6T IR Ia159:
URH- “UTST Be &1 3ief 32

1. HRI BT

2. W& g ST

3, RS

4. HIT ST

Correct Answer :-

RMNCRCKISIE

5) Wl TS 3MTS 19 & SHieh X1

Y B e TS IS, AR X A 9iefti
fofa-fera @t § Yt ARTN, Aig eftsT ger!

Bt ity uft @R SHuft, Fafy &1 yist perl |
N7 Sfa Y et ol R g 1wt

F$ HUC ST BT Frewr, i &1 i s st 1
3iteft ey <Y o T, 09 w6 & AR T

Fg AR HIH F Tdhe Sfed W ad diHT 1|
I Ui Bl UGHR 1 U 7T WY 61 IR 154
- TR U § AT | ared 82

1. BTy

2. FSHI Y

3. W A

4, GiERSD SitaT

Correct Answer :-

. GRS Sia
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6) wail WTS 3MMS {1 JER T

YA P o1d) 94 SSHY, AT I T aiedti
Rfa-fora ot & ARTR, Mg sefieT e

Bt Bt uft @R Fult, Faft w1 ursi werl|
SIRT STfe X el afeht fARg ga = uioft

TS HUC BT 1 Fewr, R #1 fa 5@ st |
3fteht i ot ora e, Iw gt o= ofi =T

He HAR Ui & ywe Ifea var au i
Iue Ui B UGH 1 YD T U BT IR Id153:
U= - 9T &1 faaia gim?

1. A F

2. G

3. fpam

4, g1

Correct Answer :-

7) Sl HTS 3% 9 ot S 31

YU B eTE Ad IS, W1 X5 7 Fieh| |
fefa-fera 1 § 4 AT, Hig acfteT qerl

Bt o1 uft @R Uik, Fafts 1 ursi werli
SIRT Ifa v et afeht AR ga = utoft

FS PUC P F1 Aow, sR &t i 5ra smoft 11
3fTeht NS it et ger, U9 &< =i ST

B8 PR Ui & ywe Sfea war au Wi
ST TRl Y UG AT D T T BT IR Id134:
WA — PR & A 32

1. YR

2. 5141

3. greT it

4. 3fftrep

Correct Answer :-

Page- 28



8) Ndl TS 3MTS FH & AiLH ¥

Y B IE TS IS, AR X A qief |
fofa-fera &t § <t ARTN, Aie wefteT qer

Brar st aik W) Sufy, paftr &1 uisi el
SIRT Sfar Y et areht R ga =1 utohh

%S PUC HIAT F1 e, sR &1 7ifa sra w11
3fTeht i ot 5t er, Uw g o= of ST

Fg PAR HIH & Tde Sfed W ad @At |
IR U= Y UgHh A U T UY HT IR TaA139:
T - PR P Tg1 AT B 82

1. §efigs

2. 3[{el

3. 3
4, =M

Correct Answer :-

9) dl TS 3 [ BI AR

Y FI 1) T IS, AR I A gied )
fRfa-Rr #1 § L PRI, Wi seiisT e

Bt ity ult @R SHuf¥, Fafy &1 uist peri |
ST ey f¥ et 9l ARy ga =1 utoft

e HUC BT &1 e, g oY fa s st
iTeht fi e & 5ra e, U &6 o ofiEn

Fg PAR HIA F Tdhe Siea W aq Wi
IUHT UL ) Ugh A1a U T UY 6T IR Ta1gd:
WA- 3iTelt &1 wafard T8 82

1, 37T

2. @M

3. §dS
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4. d¢hdid

Correct Answer :-
o 3feT

10) el YIS (TS 1 @1 Mieh ¥

YH P T Ad IS, AT I T i 11

Rfo-fra 91 § & AR, g sdieT e

Bt ity uft @R Suft, Fafy &1 uist peti |

SIRT STfe iR et afeh g ga = uioft

F$ HUC HrAT B e, i o1 vfa sia smoft 1
SiTeht fie <t 51a e, T &6t o= offEn

Fg AR HIH & Yhe i war aq AT 1|

IS UL Y UG AT YD T T BT 37K Id154:
U=A- ST e | ared 82

1. gfdd T

2. T AT

3. SR

4., ST

Correct Answer :-
o giad I

11) Hdl HTS 31T T $i S X1

YW S eTeT Ad IS, HIAT TG A qiehi i1

Rfa-Rr 31 § L AR, dig sdisT @l

Brarsit uik W) SHul, paftr &1 uisi el

ST SIfe ¥ et |l fARg ga =1 utofh

T HUc wraT 1 e, g 31 wfa s st

SiTeht NS 5t 5ra e, T &6 o= o

Fg PAR U & The Sfed war ad FiHT 1|

IUYe =R Y UGHR 19 IR T UY T SR Ja1ga:

W U UfkTal # SeRer A fwet wen o wiifd fear §2
109
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2.1
3. HIAOT

4. YHq

Correct Answer :-

12) Jdl YIS 3Ms 319 @1 Srieht ¥

Y B eTE Ad IS, AT G 7 i | |

fRfo-fera 91 § < ART, Wis st e

frat sify afit @R FHul, Faftr &1 uist werl|

SIRT Tfa Y et afeht g ga = uioft

S PUC BT &1 o, g Y i sra Sl
3fTeht NS o oret e, 0 &6 =i T

Fg FAR W S Tahe 3fea war aw Wi |

ST UL ) TS A U MU UY BT IR Targa:
T- el UTS 3T T BT 3 ¥ & B 1 PR B2
1. I DR

2. U 3ABR

3. 31U 3[R

4. SUHT PR

Correct Answer :-

o TUD AADR

13) Hdl WIS 3 9 31 33

YH P TICT Ad IS, ARTIE T i1

fRfa-fea 9t § I ART, wig it e

BT sify ult R Suly, Fafy &1 urst e |

ST SIfa ¥ <t |l R ga =1 utoth

TS PUC BT &1 T, g B i s1a St 11
TR NS o 5rar T, T &< o= off T

Fg PAR Ui & Jahe Sfed war aq Wit

IR U= B USH -1 U T T HT IR TaA139:
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WRMH- FAR A 759 =0 A 791 & 319 3 919 Bl 82
1. o
2. 3fieh
3. ST

4. HIGT

Correct Answer :-

o ofieft

14) Jdl YIS 3T 1 BT Mieh ¥

YT B TTET Td IS, AT TG A qiefl i |
fofa-ferar &t § <t FRIN, A wefter qer

Bt ity ult @R SHuft, Fafy &1 yist weri |
ST Sfa Y et ol fARg ga =1 uthh

TS HUc w1 BT e, g @1 fa s/ st
3iteh Fie < o e, 99 &6 o o

Fe FAR I S Tdhe i WAl ad@ Wil |
ITH T UL B UG AiTe U T UY B IR TaIg4:
TRE- <Y F ared 82

1.

2.4

3. 79

4, X

Correct Answer :-

15) Hdl HTS 3MTS J19 D1 3 ¥

Y B €T A IS, AT ¥g A qiefi |
Rfa-fra 91 § o ART, oig sdieT e

Bt it ult @R Suft, Fafy &1 uist weri |
ST STy i et afeht g ga =1 aroft

TS HUc BT 1 e, g @1 1fa s/ st |
3ffeft Fid ot o e, 99 &6 5 e
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P PAR HIF P The Sfed war aq AT

ITYd U B USHR I YD T U BT IR Ia154:
W[~ BT Weg b1 fageft = g2

1.9

2. TRR

3. B

4, SISt

Correct Answer :-

16) I 1857 5. & TARIGY AaT YU AT TG FHR & SAHA g4 W ofd U &, df 9 et o rat
T AT B Y A A W 9H | I A g | U & aea ® @t o W e one oA & arg oilwi A
TSI € e A 39 i 3R FRuRTy 3t &Y 3ifyr A v R | SUST AMTEGRT quis UTaTT gy @
W TP IR Fdd B a1 31 YR | fiuur gurwis $31 & 916 3 &1 e ga fage o1 3R mam
g ® AT ATed FT IHEd e T T4 IR S 9ga diel GWi Ul & g1y @il | 9@ 91 S
A Y & Tl F 7T e © Hed U B3 ¢4 &1 47 fHan e oa A o9 981 v o, 39 39y
Wed F RS § TP 3d Frex TIIDT PR WIT Bl TS| 3 SWH S AUl P a7 3 ga,
HifP AEA e $ HAY I§ dIP] 951 Fol ¢@Ts 7 ¢ R IW FIfereT 4 WS § WS go? 3
JAUTT B M RAF A T fFaT1 IHBT HHUMYU G4 3R eTaa™ S@HY JUfd it ff 39 W 5
ST 3t |

IR TR D1 UGHR 1Y IR T Y HT IR Td130:
UH- eqaad $1 3 e

1. gredl

2. HH Y drelt

3. ATCTH
4, EERg

Correct Answer :-

« ®HIY i

17) 91857 5. & TARIG! a1 YU AT AIGd FHYR | TG g4 U ofd U o, df 9 STegt d 3a=t
T B B Y A A S TS| S AT fgR A fUar & wea # Tedt O R fasie oud a1 & are Siiei A
T3 81 PaT T 39 A1 3R FFRwRTy 3t &1 Sifyr § v o2 fean| IHST e R quiv uraTer ge @
W} T IR sdtyd B 3a1 81 FEYR B i ganwis $ F a1 s B AfFe ga fage 31 8 mam
gz ® =1 ATge F1 vevEd e fora T, W 39w a9gd dis iy Sl & g1y @il g9 918 iU
A AU & Mal A T e BT Agd U B ¢4 &1 g7 f5an @ ga 3 o9 gg1 v s, 39 aug
TEd P RS § TP AT Jrox TIADT PR WIT 8l TS| I STHY AW AUl F a7 3merf ga,
Fifs 78d e $ TUG I8 qID] 981 Bl fe@rs 7 4t 9t I qiferet 7 R # TS gia i
T B M RIAA F WA 51| IHBT HHIMYUT G 3R eTaa TP JUfa i ff 39 R 59
T M |
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IR TR BT UGHR 1 IR 7Y Y HT IR qAd133:
WA — WHHI: 34T ATH (AT giar g2

1. Seitd Sitg

2. T yard

3. T Ugt

4, I gt

Correct Answer :-

. To el

18) T 1857 3. & fAsIg! a1 YU T ATed FHYR | SR g4 WX T UNH &, T o e § 3ot
T 891 B WY A 7 o g | A A g § e & wea ¥ et o R fasie gne v & arg oRie A
TS T Prar T I e iR PRty St @61 3iffr o vy = a1 3Tt Awiwred i qui= uraror gegg &1
ft T IR gAY B a1 81 FEYR F Wl gardis FA F a1¢ S BT S ga fage 3t ek mami
fagR ® <1 wTee &1 vEd de o T, uR 39 9gd dISt iRy Sl & g1y @il 9% 91 iU
A A1 & el A AT AI8e BT Ugd U & ¢ &1 (g foan 39 ga A o9 981 aiv e, 39 aug
TEd & WS | UH fd o TIADT SATH T 8l T3 1 I @HY SHieT AUfd B a7 g gan,
FiifP 7Ed e $ THY 9% dIST I81 el fe@rs 7 ¢l Al S et 7 Mg § W gy il
T B A aRAT A T fHaT1 IHST HHUMYU] G SR SUaa TS AAUfd 3 ft 39 R $8
T STt

IR TR BT UGHR 1 IR Y Y HT IR Ta133:
Y - 91 989 &1 Jea-d A2

1. TERAR
2. SWiad It

3, PR
4. AR

Correct Answer :-

19) I 1857 5. & ARG AT YYUT AT TG FHR & BT g4 W ofd U &, dt 9 STegt o ot
T B B WY A A S TqF | S A fagR W fUar & wee ® el O wR fasie g e & arg e A
TSt &) HaT T 37 AT o PRy A&t &1 oifdr A v w1 feam| 3uHT SR quis urTer geg &
W T IR FdlE &R a1 31 FHYR | fuvr gurwis $31 & 918 i &1 e ga fage o1 ok mam
fage o AT ATed &1 e e forar Tm; IR S9H 9gd UiSt gy SRS & g1d @t 39 91g Sl
T 91 & Tal A T 9189 &1 Ugd U S ¢4 &1 1 fan e ga A o9 981 av e, 39 9y
TEd & RS H TP AT Frax TIDT 3B W3 8l e | IH ¢@H U AUl B 98T 3 ga,
Fiifs Hgd e $ TUY I8 qIerd! dgi Bl fe@rs 7 3t 9t 39 diferet 7 R # WS giew i
JAUT B MA TRAA A T4 fHam1 IHHT HHUMYU! G 3R Taa @AY A-fd 3 ft 39 R 59
T 3T |

IUY R TR BT g 17 T Y UY HT IR Id134:
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U=H- UTHIV] g6 Hg- & AT 82
1. URR T Hall
2. TR &I Rrar

3. TRR &1 31T
4, IR Sl

Correct Answer :-

o TR BT Haol

20) I 1857 5. & fasigl AaT §yUd T AIEd HHYR H SFd 11 UR 9 YNH 1, a9 I Tee! & S
T A B @Y A A S 9H | @ B AR | e & aea # wdlt Ff; w ke ome w1 % are silsi |
TSI 8 YT A 39 T SR PRIy 3 31 o & vt &7 e | SuST AMiEERY quie U g6 &t
Wt TP IR g B a1 31 PR B fiuvr gearwis F & 916 i &1 S ga fage #t ok mam
g ® A1 Aree #1 IoHed e o Tar; R SuH 9ga UiE TwulRy S & B1d @it 39 91g S
A AT F Ml A THT AT BT Agd HA HR &4 BT 7 foram AfFe oo 3 w9 981 Y @@ns, 39 99y
TEd & RS § TP 3d Fra TIDT PR W 8l TS| I/ SWh AW AUl H a7 3merf ga,
FP Hed Teq $ JHY a8 qIeeT agi Bl fe@rs 7 3t o0t 39 Fiferet 7 R § TR giev 3R
FEAUT B M TRAA A WA FHaT| IHBT HHUNMYUT G 3R eTaRT s@H JAUfd 3t ot 39 R 59
T 3|

JU TR BT UgH 19 U 7Y UY BT 37 qd1sd:

U= ATufer o1 3ref T gt 82

1. S T G IID

2. AT BT favieft

3. U1 &1 IS

4. 1 BT e

Correct Answer :-

o T BT AAS

21) ¥ 1857 5. & TASIE AT YyUd T W YR | % 51 U oI U @, oY F Siect § oot
T B B WY A A S 0P | S A fIgR F U & wed # el f; R g e v & arg siei A
T3 §1 PaT T 39 FFRIE 3R FARuRTe 3t o1 Sifyr A v R faam| 3T SR quis urTer geg @
M T IR YT B 3T 21 AR F N0 gATPhiE F9 F a8 3 BT A go g Y 3R
g & A1 ree F1 voHEd e o T R S9H 9ga Ui g Sl & g1y @il 9% 91g S
AT F Ml J T T8 BT Hgd HT B 31 @1 g a1 3 oo A w9 981 9 @, 39 991y
A & WA H TP 3d Grax ITAdT THY WI! gl M5 | S GWH S JATIT BT IST MY ga,
P T8 qe & UG 98 DT 98 Hal g@rs = <t A1 I qIfadT 7 | & TS gHe e
T B M R F WA 511 IHST HHUMYU G 3R 3eUaa™ @A JUfd 3t ff 39 R 5
T A |

IUY T T BT UgH A1 Y MY UY BT I Ia133:
WA - 34 AT fargR ® fopads Y Tt oAt
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1. W &b A1
2. far & w1y
3. AT S Y
4, TSl & Y

Correct Answer :-

. arE Oy

22) T 1857 5. & fASIg! FaT YYud AT A18d HHYR § SAGd g4 U OF UFH o, a1 d STegt o g
TR BT BT A A A A TB | GG B fogR | fUar & aga | et o W g o w9 & a1 Sifisi |
TS S prar T 39 e ok PRty St @1 3iffr o wy &= a1 STt Auiwed R quis ururr geg &1
Wt TP IR FdYd B a1 81 FHEYR B vl garewis F31 & 916 i &1 Sfd ga fage @t ok
fagz ® T ArEe &1 IeEd e o T, W) 39 9gd dISh iy Siel & g1y @it g9 91 i
A A1 & TMial A AT 9189 &1 dgd U B ¢ &1 e foan 5@ ga A o9 981 9id e, 39 99y
TEd & WIS | TP 3fd e FIIDT SATHI T Bl T3 | I @B 30 AUl B a7 e ga,
FiifP 7 ged $ THY 9% SIPT I81 Dol fg@rs 7 41 A1 I et 7 SRS H W Fdx il
FATUfa B M TREAM T 77 fFaT| IHHT FIUNYl G SR SeUaay T@H? A 3 off 39 W 59
T STt

Iue e B UgH 19 TR 7Y UY BT 3<R qd133:
U=~ ‘e T e & | Yol =19 |71 872

1. GIgd

2. 4yud

3. TP T8t

4, |11

Correct Answer :-

23) W 1857 5. & fasigl a1 §YyUd T ATed HHYR B SRFd g4 U oG YNH 9, o I STee! | S
Tt A B 1Y A @ o 9 | Adt A fagR W fUar & wea o vedl o R fagi' gue v & a1 oile A
TSI B Har | 39 g o PRy At &1 Sifyr A v w2 fean | IuHT e R quis urTer geg @
W TP TR 5dlYd B a1 81 FHEYR | fiuvr gurwis $31 & 916 i &1 e ga fage o1 ek mam
@Y # AT A5 P ITHE A ¢ T T4T; IR S 9gd UIet Ty Uil & g1y @il | §9& 91 3l
A 9T & Ml A TET A8 BT A5 UH B & BT Fgw fan dfve ga 7 w9 981 A9 @@ns, 39 9wy
HEd & SRS H TP 3cid Yo TerdpT STHT WS 8l TS| I/ SWH 30 JTufa H 78T et ga,
TP T8 Je & UG I8 DT 981 Pal e@rs 7 df A1 I FIferdT 7 WS # WS giHR Sfie
JAUT B M TRAA A T a1 ST HHUNYU! T 3R SeIaa™ P Jfd i ff 39 W 59
4T 3T |

IUYF I BT UgHR A1 Y& Y U BT IR IA133:
URA- AT A9 YT 994 {5 e J1y 18] & i1 urg?
1. fuar =t
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2. G Bl
3. Udll &Y
4. TP BT

Correct Answer :-

. e

24) T 1857 5. & fasIg) a1 §YyUd T ATET HHYR B SRIFd g1 UR TG YNH 1, o I Tee! & S+
T A1 B Y T A S TGP | S A gy # fUar & Hew # e Y W s oFH e & are S A
TS T AT T 39 e iR PRty 3t 1 3iffr o vy = a1 39T Auiwre ™ avf ururor geg &t
W TP IR FdlYF B a1 31 PR B fuvr garwis FI1 & 91g i &1 Afe ga fag 31 3R T
g # AT ATed P WoHed e o T R 39w aga Ui Twul Sl & g1y @il | 39 arg Sl
A AT F Mal A T AT BT Agd HA R &4 BT g foram Af e ga 7 w9 981 AT @ns, 39 9wg
TEd & RS § TP AT Jrax AIADT PR G 8l o | I @B U ATUfT DI a7 M g,
FfP Hed deq $ JHY dg difere! a8 sl fe@rs 7 & 8t 39 aiferer 7 Rme § T gl 3R
JAUTT B A TRA A T fHa1| ITST HHUNYU! G 3R SeUaa T@H Afd 3t ft 39 W $8
T 3|

I TR BT UGHR 1 IR T TY HT IWR Taq130:
- YU T I18d B A?

1. 3

2.9

3. A
4, g

Correct Answer :-

25) T 1857 §. ¥ FARIE! AT YYyud 7T WEd YR | G g W S HFH &, af I Sedt § ra=it
T B Bt WY A A TS | A BT fIgR F e & wee ® vl O wR s o v & arg e A
TS &) PaT T 39 FRIE 3 PRy 3t &1 oifyr A v o2 feam| IUHT SR quis urwTer geg @Y
ft T IR ST B a1 81 FHER T ol garsis F1 F a1¢ 3 BT TS ga fage it 8k mam
g & AT ATed $T ISTHEd e T T IR S 9ga YISl I Sl & g1y @il 9@ 91g Sl
A AT S Ml F T I8 BT Hed HT HR &1 o1 (g fan S ga A w9 gg1 9 @ns, 39 991g
g & WA H TP 3fWd rax Il THY Wl gl T3 | S G| S JATITT B g7 My ga,
Hifs A e b WHY G dIierepT g8l bel fowrs = 1 41 I FIferedr 7 SRS # We gl 3w
TS B M TRA A A1 {511 ITBT FHUMYU! G 3R SeUaon SadHR 1atd ot W ST R 9
4T 3T |

I TR BT UGHR 1 IR Y UY BT IR Td130:
W= - ST BT yatgardt 781 82

L. gfear

2. TS

Page- 37



3. SHAL

4, d1

Correct Answer :-

26) T 1857 5. & TAZIE AT yUd AT WIgd FHYR | TG g U WId UFTH @, oY F Siect § oot
T B Bt WY A A o1 A6 | St B fagR F fUar & wee ® vedt O wR fagie gu v & arg s A
T3t g1 HaT A 3 AT o FFRvuRTy A&t o1 Sifyr A v w1 feam | IuwT Aime R quis urTer geg &
it T IR FAIYdT B a1 81 PR H vl gaarwis F1 F a1¢ S 1 Afw ga fage it 8iv i
gz o 1T Ared ®1 WoHed e o war; W SuH 9ga et Tty i & g1y @ il g9 91 Sl
A AT F Ml F AT A6 BT Hgd URT FY 33 F1 12 foman | S ga A 5ia gg1 a0 @, 39 90y
TEd & RS | TP AT Jrox TIDT PR W 8l TS| I @B AW Ul F a7 3 ga,
Fife T8 Je & THT I8 DT 9gi Hal ¢@rs 7 <f A1 I FIfAHdT 7 WS & TS gipr Shie
mﬁﬁﬁmﬁﬁw%mmmgﬁaﬁ?mmﬁwﬁaﬁﬁwmw
<41 I

I TR DI UgHR 1 IR T Y HT IR Td133:
W=- HuRy &7 faee 2res 82

1. 3Mufy

2. faufe

3. gl

4, g4t

Correct Answer :-

27) 9 1857 5. & fasigl a1 §YUd T Tgd HHYR B 3RIEd 811 U oG YNH &, o I ool | S0
O B Bt A1 A A o1 G | gt BT fogR F fUar & wed | vedt Of; W fagis g o & 916 o A
I31 € Har ¥ 39w iR FRuRTy At &Y iffr & uww o foam| SuwT Jmiae i quis graTr geg @)
W TP IR SAIYF B3 <1 31 FHEYR B fiuvr gurswis $31 & 916 i &1 e ga fage o1 ek mam
fagR o 1 red &1 e e foran Tm; IR S9H 9gd UiSt gy SRS & g1d @t 39 916 Sl
A AT & TMal F T U6 BT Hed U X ¢4 $1 e faman 1 S ga 3 w19 ag1 @Y @nd, 39 9wy
TEd & IS H TP AT Frax AITDT PR TS 8l TS | I ¢@H U AUl B a7 3R g,
FP T G F TAY 98 FIierdT 981 Pel fe@rs 7 & N1 I T A /e § @S groe 3l
JATUTT B M TRAM T 77 fHaT| IHBT FIUMYU G 3R SeUaaT W@ AUl Fi off 3 R 59
T STt |

I TR D1 UGHR 19 IR T Y HT IR Td133:
WRA- Al & AR B WSt 7 IS A

1. fagr =

2. 3TH Y PIS T

3. T ¥R
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4, <A B

Correct Answer :-

ol E

28) T 1857 5. & FARIl AaT §Ud T ATET HHYR B SRIFd g1 U oG YN &, o F See! | S+
T AT B @Y A A S FH | TR A g | A & aea # e o W e ouE v ¥ arg oliwl A
TS &) HaT T 37 FRIE o PRy A&t o1 oifyr A v w7 feam| 3T e R quis urwTer geg @
W T IR FdYF B a1 31 FHYR B 0T gurdwis F31 & 918 il &1 e ga fag o1 3k mam
g & AT ATed BT ISHEd ¢ o 4T IR S 9gd diet T il & g1y @il | 9% 91 Sl
A AT & Mal A T AT BT Agd UA HR &4 BT 1w foan dfe ga 3 59 981 aY s, 89 9wd
TEd & RIS H TP AT Frax TIADT PR W 8l e | IU ¢@H U AUl DI a7 M g,
% T8d ged & UG 98 DT 98 dal e@rs 7 df A1 I FiferedT 7 WS # WS giH) Fie
JATUfd B M TRAW A T 4711 ITBT FEoNYU & 3R eIaad TaHR A-uia Bt off 39 R 9
T 3 |

I eI 61 U 19 R 7Y U BT IR Td13:
WA- STferest A AUl 9 T 3mrg fvam?

1. ATl &1 G I

2. Tg1 I o BT

3. Tl SR BT

4, Tlet 1 S BT

Correct Answer :-

o TS 7 IRIM BT

29) 9 1857 5. & TARIE AT YYyUd AT WEd YR | AT 51 U Id U @, oY F Siect § oo
T B B WY A A TS | S A fygR A far & wea # wedt ff; W fasi o v & arg e A
T1 € a1 A 39 T iR PRty 3 Y 3ifsr A v = 3| ST AMTae R quis uTaTT gy @Y
ft T IR Sy B a1 21 FHEYR T Wl gardis FA F a1¢ iU BT S ga fage 3t o mami
g ® AT ATed $T IeTHEd e T 14T IR S 9gd YISl T iUl & g1y @il 3@ 91 Sl
A A9 F Ml F 1 T8 BT Hedd HT HR &1 o1 g fwan 3 ga A w9 gg1 94 @, 39 99g
Ugd & SRMC H U 3cid Yo aIferdpT STHT W 8l TS| I WP iU AUl H 77 Smerd ga,
Hifer AEd e S GHY I8 dID] 981 Fel [¢@Ts 7 ¢ A1 I FIfereT 4 RS § WS go? 3
JAUTT B M RIAA F W4T 511 ST HHUMYU G 3R 3eUaad s@HY Jfd 3t ff 39 W 5
4T 3T |

IUYT T BT UgH A1 Y& T UY BT IR IA183:
U= - YR 0T geTewis & dig 30 w8l e A2
1, 7Y

2. HAN

3. fogR
4. Jalleldlg
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Correct Answer :-

30) T 1857 3. & fAIE) a1 YYud AT ATed YR H SRIBA 811 UR T UM &, ) I STea) & S+
T A1 & WY 9 A o g | 3t A1 fgR | frar & wea # et ff R fasie ena w1 & arg SRiei A
ST 8 YT @ 39 T ok FPRwRry 3 31 o A e o7 a1 SHT AMiEeRY quie U g6 St
W TP IR FdlYE B a1 31 PR | fiuvr gearwis F1 & 916 S &1 B ga fage F1 3R mam
g & AT rge F1 WoHEd e o T R SuH 9ga YISt T Sl & g1y @il 39% a1 Sl
A AU P Ml F T A8 $T AT U B 31 1 g fan Afe ga 3 519 ag1 Y @ e, 39 99y
Ted & SRS § TP 3cid Yo STerdpT SHTHT WS Bl TS| I SAPH 3iUST JATUf B a7 et ga,
i Tgd deq & UG 9g DT 9gi Hel e@rs = of f| I qfadT 7 | # TS gidpw i
T B M A F T f5aT| IHST HHUNMYUT G 3R eUaad T@H? JUfd 31t 39 W $9
T T |

IR T BT USHR 1 IR T Y HT IR Tad153:
W= - faslE 1 U@ s A R2

1. IS

2. g

3. §TEd

4, Bifd

Correct Answer :-

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

MRS & 1Y fagE B g @ a=0 B 73R s B v e Rigor fafdy, s
o5 T fasm, sha fagm, ifas, gadt fagm enfe, R g:

1. Science Exhibitions /ﬁﬁ'ﬂmﬁ'ﬁ
2. Science Games / fa3 Ad

3. Science Fairs /ﬁﬂﬁﬁ@f

4. Science Songs /ﬁ?‘l’l:f"ﬂ?f

Correct Answer :-

« Science Songs / fag= ia

2) Who gave the model of “Cone of Experience”? /
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"I 3T TEHUIRTH" ®T Alsd fea- faar 42
1. Burton / §¢

2. James S. Kinder/@m\‘:fw. fhsx

3. Edgar Dale / USTR o

4. Carter V. Good / PTCR dT. s

Correct Answer :-

« Edgar Dale / USTIR s

3) Developmental Psychology is studied by other scientists, Except for:/

e wHifage e &) Slees oy AgTiae) g ereaa fbar SITaT @:
1. Anthropologists / A faT (GUoRE)

2. Biologists/ S faTHIT (SRATQITRC)

3. Physicians / W fagt (FOpfoT=Iam)

4. Physicists / Yifae fag (pfoiRe)

Correct Answer :-

« Physicists / fas ﬁ?g mﬁlﬂ@

4) What is one method of transferring information from short term to long term memory? /

TY-PIe A SH-orene Vfa & Faan wFaia s o v fafy @ g2
1. Rehearsal / Qa1

2. Decaying / UdH

3. Delaying / faciadn

4. Chunking / ST

Correct Answer :-

+ Rehearsal / U@TW

5) What is the smallest unit of speech known as? /

IO &5} T BIET SPTS B T HgT el 82
1. Morpheme/?gm(ﬁll'qanﬁ:l)
2. Word/W(aTBF)
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3. Syntax / ARG (Rica)
4. Phoneme / WHH (BIHH)

Correct Answer :-

« Phoneme / WHH (BI-H)

6) Permanent hardness of water is due to: /

el B VIR B3Rl BT PRI E:

1. CaCO3

2. Mg(NO3 ),
3. MgC12

4, Na2C03

Correct Answer :-

o MgClz

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here,
the 20N and 50N are acting towards left and 30N is acting in the opposite direction. Now the
resultant force acting on the body is: /

T &fost IATd IR @ TP BT TR 20N, 30N 3R 50N & I I T €120 N 3R 50
N,am%mm%amsoNﬁqﬁaﬁnnﬁwﬁ%l frer R @ F arar uRomdt a9

1. 40N towards right / G4 3R 40 N
2. 40N towards left / STQ M40 N
3. 40N in the downward direction / <I1dl ®1 3R 40 N

4. 100N towards left / STT 3R 100 N

Correct Answer :-

« 40N towards left / ETQ 340N

8) Ultra microscope is set up based on which property of colloids. /

ST HISHID U HIAISS B [P 0T P MMYR W AT fpar mar g1
1. Brownian movement / ST3a- TTfd

2. Tyndall effect / [dSd gUE
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3. Electrophoresis / aquob 0T I
4, Coagulation / STHIG

Correct Answer :-

. Tyndall effect / [&Sd UHTT

2) is the only mode of heat transfer which doesn’t require a material medium. /

: THHTH SHOHT RATFTIRUT BT a1 & Forad Irrht areaw &) siagedn g1 gidl
|

1. Convection / Jdg
2. Heat pumping / 3 ®HI gfafT
3. Conduction / dlel
4. Radiation / fafabRor

Correct Answer :-

« Radiation / fafor

10) If the amplitude of vibration is increased to three times of its initial value, then the
loudness of sound will: /

Tfe HUT & SATATH B 3T WRIUS Hed & - A1 9 T fear orar g, @ eafy 3t
Ugear sif:

1. be doubled / &I TFT

2. be six times of its original value / 30 ARdde HIH BT BT :

3. become three times of its original value / 30 dRdfd® HH &1 @i AT
4. become nine times of its original value/ 3= ARdTd® A BHI i RIGH

Correct Answer :-

« become nine times of its original value/ 3T IRAfdP T BT Y LIGH

11) In an electrical cell , the energy is stored as:

% fagga Aa &, Sl &1 59 U # Jugid fHar smar g:
1. Charges / 3raz

2. Heat energy / \HCHI Soll

3. Chemical energy / RS Sl
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4, Nuclear energy / UXHIU[ 5]

Correct Answer :-

« Chemical energy / S Sl

12) Select the statement which is not true: /

I HYT BT T B ol & 81 8

1. Sound travels faster in metal than in air. / &, arg DI YT Yrd o Aot I IEn Rl
2. Sound can be easily propagated through vacuum. /

Hatd & arem ¥ a9 S 3 gIRd &t Sl Il g

3. Sound can be produced by the vibrating air column. / %arﬁr, U gal WY gRT Idifad fobar o
BETII

4. Sound can be propagated through any medium. / foo=it Ut A1eqw & eaf= St 9
IR BT S Jobelt B

Correct Answer :-

« Sound can be easily propagated through vacuum. /

fRata & ATegw 9 @i S Q UG &l ST Yobeit 5|

13) Select the pair of forces which are non-contact force: /

I T & T BT G B9, 9l 3G (A-hlede) T4 &

1. Magnetic force and electrostatic force / W I 3R fRR é?{g?r o¢T
2. Muscular force and magnetic force / U=t 9 3R W EN)

3. Muscular force and frictional force / ORIt &7 3R TO0T §/c

4, Electrostatic force and frictional force /[RR a_c{ﬂﬁ I 3R g1

Correct Answer :-

« Magnetic force and electrostatic force / w g 3R fRR aa'ﬂﬁ oct

14) In which one of the following cases will Common salt dissolve in water most readily? /

frafafea & 3 feg Rufa A IryRor 99 ur-l & 998 Ivaar S el g smeme
1. 10gm of Ice at 0°C / 0° T | 10 TH T
2. 10 ml of water at 90°C / 90° TfRTT TR 10 fHefictier o1a
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3. 10 ml of water at room temperature / HIH=] dYHI U 10 foreliciie) Sfd
4. 10 ml of Ice cold water / T Idl 8 ST BT 10 fAelielie”

Correct Answer :-

« 10 ml of water at 90°C / 90° IfRTTT W 10 cficiex 9a

15) Alternating current is not used in: /

TGl HRT BT SUURT god & fapan o &:
1. Transformers / @ﬂ'q?\lﬁ?

2. Electric heaters / ﬁw GIECD

3. Electric geysers / ﬁag?r MR

4, Electro plating / ﬁ”c:ga GG

Correct Answer :-

« Electro plating / fdggd Tu=

16) The process of conversion of water vapour into liquid is called: /
ST a1 & &4 H TR0l H Ufshan sgard o:

1. Sublimation / S 0T

2. Condensation / FYTT

3. Melting / TTeTd

4. Fusion / TfRT&0T

Correct Answer :-

« Condensation / g

17) During rainy season the rain water goes deep down into the earth passing through
different layers of soil.

Which one of the following processes does not occur during rain water seepage into the soil? /

wg%ﬁwnﬁmﬂmmuﬁﬁ@%ﬁﬁmuﬁﬁgﬁﬁ@qwﬁﬂﬁ%ﬁw
EIGI

= & g & ) o framg & e Fafafea # 9 919 3 ufsa T afea it 82
1. Filtration / fARgiga
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2. Sedimentation / 3{dHIg
3. Distillation / 3{THdH
4, Decantation / fIAROT

Correct Answer :-

« Distillation / STHd-

18) The commercial unit of energy is expressed in terms of: /
Sl 1 OIS TS 51 Uel § oo Bt Sl &

1. Nm

2. kW

3. Joule

4, kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to
heat radiation? /

frafefaa # 3 o I aag ST IR & 9udh § 3 W &H | BH ST Sell oI
AT Pl 82

1. Surface coated with white paint / g Ue ¥ diftd udg

2. Surface coated with red paint / ¢flel T 9 aftd ddg

3. Surface coated with black paint / ®Id Ue § dfta ddg

4. Surface coated with dark green paint / TT&X & Ue ¥ dfUd Iag

Correct Answer :-

« Surface coated with white paint / g Ue I dfud udg

20) Which of the following combinations are most suitable for composite fish culture? /
i3 geurem & fore Faffaa 3 § &1 31 Juieq 99 Suged 82

1. Middle zone feeders and bottom feeders / H& \,Sl\H HieY udq dicH Bie

2. Surface feeders only / Had g Biex
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3. Surface feeders,middle zone feeders and bottom feeders / Tdg WIS, AL T HleX
Td dicH Blex

4. Surface feeders and bottom feeders / 9dg WIS Ud dicH Bl

Correct Answer :-

. Surface feeders,middle zone feeders and bottom feeders / T8 Biex, HL T HI8T

Td dicq Bl

21) Which of the following natural phenomena cannot be predicted accurately? /

frafafaa 9 @ e urepfae ge o adie Hfawarf 78 @) smasd 82
1. Lightning / fereTelt

2. Thunderstorm / 3fi¢l-thT

3. Earthquakes / H&b¥

4, Cyclones / dehdld

Correct Answer :-

+ Earthquakes / Hh™]

22) Which of the following is not an animal protein? /

fFrafafEa &« e sfa gid 76t 32
1. Wool / &+
2. Silk / 3R
3. Milk / GY

4. Pulses / &I

23) Which of the following is not related to sound? /

fafafea # 9 o= w1 @iy & |@afta 78 82
1. Frequency / GHQ'%
2. Microphone / EIECANIE

3. Loud speaker / ¢1I3 S i
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4, Myopia / i

Correct Answer :-

« Myopia / Ao

24) Which is not a major advantage of Crop Rotation? /

frafefad & 3 o waa sad= &1 g Aty A8 82

1. Additional use of fertilizers / SARep! BT SARTT ST

2. Conservation of soil productivity / Hal SdIqhdl ol TR&T
3. Weed control / TRUAR =07

4, Increased yield / 3UST Q‘@

Correct Answer :-

« Additional use of fertilizers / Ia3eh| T 3ffafad ITANT

25) Choose the incorrect physical property of non-metals. /
3rergeit & Srgfra ifae ur &1 T 9

1. Generally they have low density. / HIHIId: Ydcd hH G\Idl %l
2. They are not sonorous. / IIEEA :IBQf _6:]?[ %I

3. They are brittle in nature. / Wﬁf pij 3—F:R _Eplﬁ %I

4, They have high tensile strength. / 3= d=Jdl &Hd] gl %I

Correct Answer :-

« They have high tensile strength. / 3= d=adT &l Bidl &

26) Choose the incorrect statement among the following: /

g o & e aads 31 9 B

1. Potassium is always stored in water. / lﬂ%ﬁltl'q &I é'fﬁﬂ Ut | 397 STl %I

2. Potassium can be cut easily with a knife. / qﬁﬁnm Udh diqp T T A BT S bl %I
3. Potassium reacts with dilute acids to produce hydrogen gas. /

BIZE IO T T SUIGH B & ol TICTRITH T 3 & A1 Sfohar S g |

4. Potassium when burnt in oxygen forms its oxide. /

SRS & SR W IR Ul R &1 HiTss S ar g
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Correct Answer :-

« Potassium is always stored in water. / TrefRry o1 THRI UM H T ST %’I

27) When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2
cm, then the stored energy will be increased by: /

9 T PHIHT b1 2 Y dop dri=id 5T SIrdr €, @) 39 1000 Sell Gufegd glan g, afe 59
2 At 3R 3ifRres arfera foran oimar 8, 99 Tt Sl fhast gies gt

1. 400
2. 100J
3.300J
4,200J

Correct Answer :-

» 300J

28) Out of the following options, select the correct relation for the electric power. /

Frafafea fowel d 9, fagga wfda & fore w8 ey &1 9g97 &<

1.P=V/R?
2.P=V?R
3.P=1/R?
4.P=1R

Correct Answer :-
« P=V2R

29) An olfactory indicator among the following is: /

g & v wu gEw 3:
1. Phenolphthalein / BIAITUACH

2. Soap / HIg-
3. Clove / ?“?FT

4. Turmeric / Eﬁ

Correct Answer :-
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« Clove /@I

30) The SI unit for measurement of length is: /
waTs Y |TT ¥ T S1 e ©:

1. Millimeter / FiiHieR

2. Kilometer / fp@HIeR

3. Centimeter / HcTHICR

4. Meter / HIeX

Correct Answer :-

« Meter/ 13“8?

31) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

afg o138 faemeif J&! Tredl &1 U S Aifhe dae TATHR el TaNT H gd-a-im 3 | Heaw
2, a8 Pra A gem @

1. Drawing conclusions / sy FeTar

2. Observation / 3l

3. Experimentation / TN

4, Providing explanation / TIBIHRUT U AT

Correct Answer :-

« Drawing conclusions / sy fRerem

32) What is mineral oil? /

Qe ad a1 82

1. A mixture of glycolipids / TAEDITUS ol T W0

2. A mixture of hydrocarbons / BE@WI_GT:?[ Ry fagor

3. A mixture of lipids and minerals / faforst iR @ s &1 s oo
4. A mixture of water and oil / TTHt 1R T T U foreror

Correct Answer :-

« A mixture of hydrocarbons / E’I’s{@ﬁ_@&ﬁ DI UDH forgor
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33) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfg @afy 5t smgfr 2.5 fraieds & ok awreed 20 Tt & o 39 5 fHlt &t g w3
a1 T TR, 9 B2

1.2.55/2.5 %8
2.20s /20 THhs
3.10s/ 10 Yds
4,155/ 1598

Correct Answer :-

. 10s/10 9HS

34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

19 & U=l 3R ST cef~d) &1 SUTNT SaH-/A%E & IdTe § fpar Sirar 21 59+
IYH Gl BT IS q P AP+ aTel ded 1 U B}

1. Carboxylic acid / PRI 3d
2. Alkali / 3fcshell

3. Mild acid / geohl 3T

4, Salts / <IqUT

Correct Answer :-

. Alkali / el

35) CANCELLED

is not an organic acid. /

TS BT 3 81 2
1. Oxalic acid / 3T1aoITeT 37
2. Acetic acid / W 3T

3. Formic acid / tﬁ% 3T
4, Carbonic acid / W 3T

Correct Answer :-

o Carbonic acid / Eh_lﬁﬂel$ H&KT
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36) CANCELLED

If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the

relation

F=X(mv)/(1+Y) are respectively /

e ‘P I 8, ‘m’ FTHTH 8 3R v’ A8, T F = X(mv) $ FaY A <X’ 3T <y’ & 1A

1. T, T
2.LT°L, LT

3. T"!, dimensionless / T'l, &naméﬁ
4. dimensionless, T / 3{TATHEH, T

Correct Answer :-

« T, dimensionless / T"!, S{RTHG

37) CANCELLED

Identify the correct set of isotones among the following options. /

frafafad faee @ O arwife & Ifd e $ ugaE o3|

1 W and 150

16 18
a0 and “30
40 40
sola and 15K
4r and T9K
4,

Correct Answer :-

15 716
2N and “50

38) CANCELLED

Which of the following statement is true: /

Page- 52



1. Thrust is the force acting normally on a surface. / &9 Th g IR I =Y § BT B arell
CE]

2. Pressure is directly proportional to the area. / GdId, aAHd & Te &Hm %I

3. As thrust increases pressure decreases. /éﬁ-@ﬁ E’a'q dodl % adld hH Eﬁ?ﬂ NG %I

4. Pressure is inversely proportional to force applied. / GaTd, AR & & [quRld SiuTfde
gl

Correct Answer :-

o Thrust is the force acting normally on a surface. / auw Tag IR A ¥ § HTH HR ard
JAg

39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
TP 59 72 fHdt/der &) nfa @ 9a 3 7, s9at ufa &1 @t/ & uiafda o3

1. 10m/s / 10 HI/&

2. 720m/s / 72 /A

3.30m/s / 30 HIA

4. 20m/s / 20 HI/"

Correct Answer :-

« 20m/s /20 B

40) CANCELLED

Which one of the organisms mentioned below is a herbivore ?/
Ha afvfa <fial & ¥ @1 T PR 72

1. Shark / b

2. Peacock / AR

3. Frog / iy

4. Mouse / JgI

Correct Answer :-

« Mouse / ggT

41) CANCELLED
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Which one of the following factors will change the magnitude of Equilibrium constant for
the following reaction?

N2(g) + 3H2(g) = 2NH3(g) /

ﬁaﬁrﬁaﬁﬁﬁ?mmﬁgﬁr@ﬁa{mm%mwﬁw% gfHTor B
qad S?

N2(g) + 3Hz(g) = 2NH3(g)

1. Use of finely powdered Iron catalyst / IRIP EI;UT Q’?IS SOR® BT IUIANT

2. Decrease in the pressure of Ny(g) / No(g) o Gad § S

3. Increase in Temperature of the reaction / 3{ffohaT o aqa= o Q@

4, Concentration of Reactants / Hﬁ-lcbl-lrcb\l' Pl His&dl

Correct Answer :-

« Increase in Temperature of the reaction / 3{fHfgha & AqaE o q@

42) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

Fafafaa & 3 w1 Rremr-ofiem ¥ 58 TRammad! gisa o1 e 78 82
1. Engage / S (1)

2. Elaborate /fa%qd ( Tdllsic)

3. Enhance / 98X (T89)

4. Explain / TUM (TaTEH)

Correct Answer :-

« Enhance /a_&'?l? ( Q:I%ﬂ)

43) Which of the following is not a characteristic of a good textbook? /
Frafafee ® @ #19 H te =) ureagws & faRivar 8 22

1. It may not cover the entire syllabus of one stage. / Ug Tcdb TRUI 3303 UTGashH &I ArRIferd el
CRESELI]

2. It is a finished product for transferring the knowledge. / Ug I & RESIGEL & FCTQ U IR
IS B

3. It should not be self-contained. / & TgHt 7 3T givferd q_eﬁ ﬁ:ﬁ ET%HI
4. It may not be necessarily for a whole year. / I8 T ¥ 9% & T snawae =78t 81 Y& g1

Correct Answer :-
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« Itis a finished product for transferring the knowledge. / g 3 G RSIREY & 1%‘]? Udh TR
I 3|

44) Which of the following is an objective for teaching students of higher primary level
(v, VI, VII)? /

I WY W (V, VI, VII) & B & Rigor & fore Faffaa § @ o9 3 sexa §?

1. Development of understanding of laws, concepts and principles /

T, srayrone ok Rigidl &1 woe &1 faem|
2. Development of power of reasoning / I ! Ufad &1 fawMN|

3. Development of practical outlook / SATABTR® PPV BT fAHT |
4, Development of interest in reading scientific literature / 33 I Ued H = BT [Ir |

Correct Answer :-

« Development of power of reasoning / I ! Ufad o1 fasM|

45) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AH-M-IGs (FSrem) &1 Sererv Fufafad & § @19 @ au=e S@yRun &) Bl & GHsm &
fore swwTe foran =i gar 82

1. Oscillatory motion / ANREINEIIG]
2. Rotation of Earth / t‘[&—ﬁ ECai ‘ELUT:f

3. Gravity / [
4, Centripetal force / Hal HHY dcf

Correct Answer :-

« Centripetal force / CoRe HH{Y 9

46) Clinical thermometer is designed to measure the: /
Aerfe yuiHier o1 fFd arm & fore fewrs— fovar mar 8:

1. Temperature of the chemicals used in the clinic / FAD | U dd ! BT ATaHH

2. Temperature outside the clinic/ CRIEED % dlg) dIUHIH
3. Temperature inside the clinic / FellHD & 3 dIdH

4, Temperature of the human body / HIHd YRR BT dAIHH

Correct Answer :-
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» Temperature of the human body / HIFd YRR BT dqHH

47) What is the duration of kharif crops? /
RGBS afy 71 52

1. June to October / S B Sfdga

2. March to September / AR ¥ fdeR

3. October to March / 3fageR I A

4. November to April / TdeR § 30@

Correct Answer :-

+ June to October / ST ) S G

48) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TP a¥g TP URUA U4 TR 30 AHs T 120 URHHUN $Ht GRT H<dl 31 39 @i & g
SIS Mgy HT UTd 3:

1. 1:4
2.1:2
3.16:1
4. 4:1

Correct Answer :-

« l6:1

49) The force acting on the bullet when it moves through the air towards a
target is: /

YdT U T aTelT 9, S gaT 9 31 B 3R T¢ar1 3 dl 7ed 3:
1. Force due to the gun / W%WW

2. Gravitational force alone / 3{ddl {lbcdlcbblrUl EN}
3. Gravitational force and frictional force. / WBTUT T 3R T80T §4 |
4. Frictional force alone / 3l TYUT q

Correct Answer :-

« QGravitational force and frictional force. / W‘%T I 3R g 9T |
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50) Expanding and cooling of hot air results in: /

T §a1 BT favaR 3R <Haed e 9 & feer aRom giar 6:
1. Condensation / Jo=

2. Vapourisation / Gl ICRU

3. Hail storm / ATy

4, Precipitation / 3qeu

Correct Answer :-

« Condensation / Jg-

51) The radiations absorbed by ozone are: /
SIS gRT sra=nfva fafdpwor &

1. Ultraviolet rays / RIS fo)

2. Infra red rays / 3{ddd fop=of

3. Gamma rays / 7THT fol

4, X-rays / QEH-B\’

Correct Answer :-

« Ultraviolet rays / RIS fahRuf

52) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

T fR1e/w T 3d § {6 TR & SR, T A oiftre faftral &1 Suahn s ufoma
P TTiud fHa1 ST Tl & | SN S WU S S Al fIRwar &1 Y gar g2

1. Critical thinking / g4 fda
2. Open-mindedness / TgURITeAT

3. Respect for evidence / HI&T & ]%TQWF{
4, Logical thinking / b feia=

Correct Answer :-

« Critical thinking / g faa
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For a person suffering from hypermetropia, the image of the object is formed:

/

e 3 & Nif3a e afea ¥ R avg &1 afafSs Sar g« &
1. Behind the retina / ¢ & W&

2. In front of the retina / X[ & JrH

3. On the retina / (¢ TR

4, On the eye lens /TAAT R

Correct Answer :-

« Behind the retina / %ié;ll 3‘7 tﬁ%’

54) Glucose drip is usually given to a physically weak patient because: /
TPl ST SMHAR TR ARIRE U A HHR TS oI feaT sirar ¢ wife:

1. He is not drinking enough water. / 98 UG ST T8} Ut 381 8IdT g

2. Dehydration can be prevented. / 3T fASIclpRUT &) BT ST bl B |

3. It readily gets absorbed for energy. / dg AXdldl q 3ol & o sra=nfd g Srar %I
4. He gets a balanced diet. / 98 399 Ydfeid S8R UIdT §1

Correct Answer :-

. It readily gets absorbed for energy. / I8 TR ¥ Sl & o @ 8 ST

55) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gf¢ ggd Treay o Tford HY0T gIR WIeAH § SUaeT & HIU & G §, df 1T BT
qut 3Uad® JaHID 3:

1.1.33
2. 1.1
3. 1.0

4.1.5

Correct Answer :-
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56) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

= fou U yerdf # I S99 1 39 WRa F 3@ed & e Icrerd! 8 872

1. Carbon tetra chloride / TS Egldﬂ\lilss
2. Ammonia / AT
3. Aerosols / QQ-IF-IIE*I

4. Chlorofluoro carbons / dd\IQ\ILK:J,Gﬂ@IobI@lrd

Correct Answer :-

. Ammonia / I

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

Tehape-aatl uraq uell, 7% ot fafRw wu 3 #ig Swme & o urelt =t 8:
1. Rhode Island / IS 3113%_6'
2. Turkey / U= geft

3. Broilers / ﬁ\féﬂ?
4. Ducks / 919

Correct Answer :-

« Broilers / Eﬁm

58) Unambiguous instructions are always required for: /
o & forg g waw fdsr srawaes B4 &
1. Long Answer type questions /e AT Uy

2. Supply type objective questions / SUC] (awq;i%f) TR & Eﬂﬁﬁ}? Uy

3. Selection type objective questions / I UDIR & q%gﬁg U4
4, Short Answer type questions / ¢1Y SR Uy

Correct Answer :-

« Selection type objective questions / IUT YhIX & aﬁﬁg K]

59) Fishes live in water. It is their natural Use the right biological term. /
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Tofer, Ut & el §1 TG SABTWIPiad 1 SUGa AP g BT T |
1. Home / YUY

2. Habitat / 3{IdTH

3. Environment / dITdRU]

4. living space / g &1 I

Correct Answer :-

« Habitat / AT

60) Which of the following topics clearly demonstrates the interdisciplinary
nature of science? / FaffAd # ¥ &9 a1 fowg Wy v § fag= # srRfawa®s
TPl B gRATdT &2

1. Colloids / PIAISS

2. Evolution / 3a&d

3. Programming / HHICRME (Eh'ﬂTfilTl)
4, Astronomy / T famm

Correct Answer :-

« Astronomy / T faen
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